dhmpmamp n ddfmh nmphdmnpd pmpunn{mn]

-Upmldiunpd dodub prupmimhdyy R mp ungy Fulghbmun?
muldwtdunddn Bypliuh mun pgamy wipbpmungy dnwfdunnd
odub n Fwlngbiupme nyhmpmamp pmdp pynmp Jhmpmopmp
1 Juqun pmldwynd Yodudb ndn ‘dpmfdiufmhmbmd Juuwnn|mn]
7 mhnnd dodub Imfugdmidnh pmpmafmn]mhmdy nmhmidmh

:Umududu hugdub winhdmunmbymb

‘puhbyl ddhudmh mumngmdyn f qdq ‘bunpmufldiulmume
rympbdmd  wlnghnbo huhbql  dpgufmp  wimngpu
dhuly <A {nuldwunbo pmhmpmdmhmuy Ypmdmunmth wilghnbo
wudfmdnd pmldiunpd dodub qulgBiudmy  Ugppiufehuiidundyp
wlgnbmlmhdgy  dgnbhiufmmm qulmwn dgpnuulfdiudnmbmd
‘gunéuly  dodub wlmpmdupme  qmp Ungu  dpwhmiy
luyndijumpum? wlghdmpmdy Hrulndbmdumnn

pfm 1ulquimdm? “hydum nmfcdiuhmunmhud pmldiudbmpmoum
_Ugpnuufehutiund n Unpnuulfdiudnmbmd luuhbh
Unmlcdbmpmydm 1wlqnbmimhiyy Uy dgruhmdy plum

$Z00S1€10006 dumumy ghZmy pmpumyh Ydpmbius
‘pynqupumb dbdmh gmpdmmmb pmpludyy
ddmumy yymZnmdoun

'
:piudgnunghamp n hubdmh emhpmpymn hudpqdo ymummmi
pmhm{umh »> nmh puwdbmdpd mhdo pungdy  unny fypmhdo (wulnhdmpmy
omhnenmy) wiggeymy hubdmh gmpymaymn huemhliuy Lu-¢87 yddbnpqlo >> hdh
g gmldiupmhynnu pfmyummmpmg Inhhumduliud Uudmh dpwuludu phup
mulind Im(Ugdmidnh Jogdub

e I g7 7 Py umd
Jompluy 5= Jddbnnydo > hdh
T P 7
=3 £
s ki
mmaB;:B%EN —E.Evmc_:m:_gBFOSTSES_._E: .D\thc:%::E ompwnn]mn|

ST 7 g7 LT )
- Trshuedub pmpmnfmnfmhmdd gmhmidmh N J U2 U J U
mufdiegmhdunu gffmygdmmymy

£€26997 N

V.\\\N

‘plmymumy nmp
Umpmy wilgunnmn|

S




